4.40 Exploring Trigonometric Ratios for Angles Greater than 90 degrees.notebopiil 18, 2018

Solutions

5. 1)  For each angle 6, predict which primary trigonometric ratios are positiv

ii) Determine the primary trigonometric ratios to the nearest hundredth.
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5. i)  For each angle 6, predict which primary trigonometric ratios are positive.
ii) Determine the primary trigonometric ratios to the nearest hundredth.
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6. Angle # is a principal angle that lies in quadrant 2 such that 0° = # = 360°.
@ Given cach trigonometric ratio,

i) determine the exact values of x, y, and »

ii) sketch angle f in standard position

iii) determine the principal angle # and the related acute angle 3 to th
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8. Use each trigonometric ratio to determine all values of f, to the nearest

degree if 0° = 6 = 360°.
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9. Given angle f, where 0° = § = 360°, determine two possible values of #
where cach ratio would be true. Sketch both principal angles.
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9. Given angle 6, where 0° = # = 360°, determine two possible values of fi
where cach ratio would be true. Sketch both principal angles.
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12. Given cos f§ = —, where 0° = # = 360°,
a) in which quadrant could the terminal arm of @ lie?
b) determine all possible primary trigpnometric ratios for .
) evaluate all possible values of # to the nearest degree.
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15. Given angle #, where 0° = # = 360°, solve for  to the nearest degree
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